
Week 3

• Meaning as truth conditions, explicit models

• Entailment vs presupposition (vs implicature)

Next:

• Set and function notation

• Quantifiers as relations between sets; Negative Polarity Items (NPIs)



(1) A: Sara was surprised that there was an explosion in Yishun yesterday.

B: There was an explosion in Yishun yesterday.



From IFS page 36:36 Introduction
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Figure 1.1: A decision tree for categorizing implications

The flying saucer has come sometime in the past.

(b) The flying saucer came yesterday.
The flying saucer has come sometime in the past.

Exercise 9. Consider the following two sentences.

(51) a. John succeeded in learning to play the guitar.
b. John failed at learning to play the guitar.

Intuitively, both sentences imply that John tried to learn to play
the guitar (52a), but the succeed sentence implies that he did
(52b), and the fail sentence implies that he did not (52c).

(52) a. John tried to learn to play the guitar.
b. John learned to play the guitar.
c. John didn’t learn to play the guitar.

So there are four implications under consideration:

(53) a. (51a) ‘succeed’→ (52a) ‘try’;
b. (51b) ‘fail’→ (52a) ‘try’;
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Exercise

• (Introductions)

• Think of a sentence you heard or read this past week, which you’ve never heard or read before.
What information does it imply? Are these entailments? Presuppositions? Implicatures?
Use the tests from class to make sure.

• (Discuss practice problems)




